dY=A4[1+A,/A1Y]

Sy dYcieLag/dYonD=7-1
X dYy Y
-1.0 0.038 1.8
-0.5 0.057 5.6
0.0 0.115 18.0|
0.5 0.301 56.9|
1.0 0.887 180

A,lA; =0.1576
Ay =0.0302 A = 0.004

Rich+Kitt_PO2_026A
i (xy.Y)=(0,33, 0,36, 18)
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dY=A4[1+A,/A1Y]

Sy dYcieLag/dYonD=8.3
X dYy Y
-1.0 0.036 1.8
-0.5 0.051 5.6
0.0 0.098 18.0|
0.5 0.248 56.9|
1.0 0.721 180

A,lA; =0.1287
A;=0.0298 A = 0.003!
As=1542 A=0873
Rich+Kitt_PO4_095A
(x,y.Y)=(0,33, 0,36, 18)

p————
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dY=A4[1+A,/A1Y]

Sy dYcieLag/dYinD=9.0
X dYy Y
-1.0 0.036 1.8
-0.5 0.049 5.6
0.0 0.09 18.0)|
0.5 0.22 569
1.0 0.632 180

A,lA; =0.1086
A;=0.0307 A =0.003!
A3=0633 A=0883

I Ag = 02041 Rich+Kitt_POS_650A
(x,.Y)=(0,33, 0,36, 18)

;...|...
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